
 

ML8 Chapter 8 Get Ready Answers 

BLM 8–2 Chapter 8 Get Ready 
1. Explanations will vary. 
a) +3%. An increase is a positive integer. 
b) –20 m. If sea level is 0, below sea level should 
be a negative integer. 
c) –8 °C. The temperature is going down. That 
suggests a negative integer. 
d) +15. The mark went up. That suggests a 
positive integer. 
2. a) You are now +$15. 
b) The person giving the prize is now –$15. 
3. a) +3  b) –5  4. a) –8  b) +4 
5. a) +9  b) –14  c) –3  d) +6 
6. a) +3  b) –4  c) –8  d) +3 
7. a) –7  b) +2  c) –8 
8. a) +5  b) –8  c) +4  d) –5  e) +3  f) +5 
9. a) 37  b) 13  c) 19  d) 16 
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